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OO0O0000 10 00 forexample forinstancel] asacase in
pointl] asan illustration] suchasl] sayl] e.g. 200 [ [ thatisC]
that is to sayLl in other words[] so to speakl] or rather] namely 3
[0 O O becausel] because of (] forJ asl] owingtol] thanks tol]
due tol1 now that[] sincel] asa result ofl] attribute tol] in that 4
O OO ifd unlesstd whetherld provided thatl] givenld as long as
[ on condition that[J otherwise 5] [J [0 despitel] in spite of[]
thoughl althoughld nevertheless] butd howeverl] admittedly
(I itistrueld butld afterall 601 [ [0 for this reason] therefore[]
consequentlyd] accordinglyl] hencell asa resultl] thusC] inshort
[ inawordld tosum upl to conclude 700 U OO similarly] likeld
likewisel] in the same wayld muchl O 0 as muchd no morel]
[ 0O thanO justasC] [0 so 81 [0 [J whereas[] insteadl] however
[ unlikell on the contraryl] in contrastl] on the other hand[]
whiled somel OJ OO others 900 [J [0 firstl] in the first placeld to
begin with[J secondl] nextl in addition tol] besidesl] moreover
[ furthermorel thirdd finally 1000 O O indeed in factld
certainlyd] particularlyl] above alll] most importantly] worst of
all 110 O OO in order told inan efforttodJ so astol] in order that
[1 for fear thatd in casel] least 121 (O [J shortly after] earlierd



later(] afterwards] afterl] beforell onceldl meanwhileld] sincel]
untilD whend whiledI the moment assoonas 1300 O O thisd
that[] thesel] thisaccounts for(] this helps explainl] thats why
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